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he slope at the wall of a fixed beam is as shown in part (b) of the figure and
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en by 5 Determme the force acting at the simple support, expressed in
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d at one end. A force P is applied at the free end in a direction perpendicular to
the plane of the ring. Using Castigliano’s theorem and considering the energy due to _ /\/ . /“q
bending only, calculate the deflection at the free end. : )
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pts) A frame of constant flexural rigidity E/ carries a concentrated load P at point
E Using Castigliano’s theorem, determine the horizontal displacement &, at support
A. Consider the energy due to bending only.
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